20214EFE HIE T 1 81 E£12E1EFH

59 E 2 HHEHER

9.1 F4—RIAT—RET4—F NI DEE|
9.2 2 BHEFIHROBELRETE
F—J—K : TA—FTHT—F, Ta—F\vs
2 B EFI{E

FERE . J—RI+T—RET—RN\VIDFNEFN
NRENEIEETS, 2 BEHEHHROE:EL

9 2 HHEHIHR
9.1 I4—FIAT—FKET4—KR\vIDEZRE

d

o o Y
NaCaatiny

9.1 D—R/ o HIER
T4—FN\yIDF R
a. HNELOEZEEIH
b M EE DX ELER
. FREREREL

HETEEMET D,
d. BRBESEDOER 2
2
[f9.1] T A Y ~DIEERE
il 5 PK TR 4s+6 _ 4s+6
1 1+PK 14 L 546~ 5(s—1)+45+6 s2+35+6
P(s) = — — V e Vi
- 9 _ -3+ V15
51 R 0 ” ™ y 0 W 2 +354+6=0 = —
_ EHHE = RE
arvka—3 c
1546 p ESHNEFE = RETH
s)=—— =4+ P

B —TRORE
RERZTE

B(s)=(s—1)s+ (45 +6) = s> +3s+6

o)=0 O BEND g o FeEREREk

Y ]
d
v 0

’ o] o |0 10|
—> K(s) O Ps) |—e—>

9.1 Z4—R I\ §I#HFR

2
3 4
d DV ~ S rQ! 1.5 ~
Mo Yy ~DIRERBHK 5 P o P(s) = 20 =W
y = P(d— Ky) 1 (s —1)(s+20)
(1+ PK)y = Pd £ 0s PK e e 20(4s +6)
1 5 U = 20 1516 —
Y= P 4= 1y L+ PK 1+ ey o s(s—1)(s+ 20) 4 20(4s + 6)
Y=17PK 1+ L 456 0
X 1 s B 20(4s + 6)
=—— d - T g3 52
213556 L | . ] s +19s +60$;);20
- t s34+ 195 + 60s + 120 = 0 DfE
A = BF 1.5
%‘“’5?‘ = ~-15.6, —1.6452.2 L5 £
BELSEE = KBTS ! o
. b. FHEEEDZELER 1
lim y = lim Sél =0 =05 = \
Y T e 35165 B LAl %0'5 \ EEED]
0— — F—"—a—kMNKREL 0 EEik
—0.5 0 1 2 ; 3 4 5 K(s)l&r FIERELTEDT *0.50 i s T4 s

. s | t
2 HELOREENH B 02 () RFyTHEGE

5

e=r—y OHALTLS

92 (b) BIZMERE (r=1) 6




20215 FIEI T 11 R 8 58

£12[E & ¥

T4—RI7+T—FDH =
Guls) LELVBEEREE

BFYRETILERH
u(s) = GIQES)T(S) cr DHA

y(s) = Gum(s)r(s)
d: BEZEREDER OK
a. SAELDEEEIMH
b BHEBHOEEEER | NG
. FRERERTEL
) 2 BEEHERA

G| v v

) o

—

9.3 74—R7+T—FHI#HR
AV

r

u y
RIS

9.4 2EHEHIER (—HKR)

9 2 HHEHER
9.2 2 HEAEHIHFRDEIE LEREHEA

uff
e R P r F(s) L
T4—R T+ T —R I ) |_.o_.| ) |~—-

ugpt

F(s) (s
P(s)l('>

F(s):E&5tH/5A—4
e WAL T |
upn(s) = K(s)(F(s)r(s) —y(s))

usp(s) =

K 9.5 2B BEHI#EHR

2 B FHE 1
u(s) = uyyp(s) +ug(s)

0[s] CREIZEILLTS
BZ{E(E, BiE0EE]
NOEENHD,

=

F(s) TREMZBREIZT S

4

(I P(s)EK(s )b‘b&%)[azﬁ)b —TRMNR

r H(s) . U Y
+

As)

P(s)
Yy
F(s) ‘——T-| K(s) }—» Rs) |—<—>

9.5 FHATET—F\vIREE

ETIMEREDGEMEE o , ETIMERELNHDHE
(R MERREES L[] Lol . 5 (F
ERELHMER) 5 : ; y=P (Fr K (Fr— y)>
Fo i TS _ _
v=p(Grexwr-y) L e = P+ PK(Fr—y)
= Fr+ PK(Fr—y) i . : &oT
&oT S S 5 (14 PK)y = P L PK ) Fr B95 SERET—RAvoHE
(1+PK)y = (1+ PK)Fr UhA—5(I43Y, AUE1—5) P
y=1Frr AVEA—S1E, BREEofEEID L4 PK 1 "
HAAL DT, EHLEELNTAHE = ierlT 1+ PK
F(s) : BEBEEZERE
K(s) : 24—F/\ I EIRTE
BT
, SATET—F /N ol 0
F(s) DEE HHRDORESYE
1 =1 F(s ~*r—‘-r-—|




20214EFE HIE T 1 81 E£12E1EFH

2 BHERI#EROKEFIE

[(RTvT1] BRELEOBRAND, F(s) EREEZHD
FFERMNTEA.

(x772) 2a—Fr S BIEDRADS, L —TRIES
EAL, K(s)ENSBREMRES-THETRHTS.

[RFvF3] LERD F(s), K(s) %, E9.5 DLz

[519.2] N\

HEIXT R !

P(s) = 7 g § BT

. 20 0 EENR
P(s)= —————
g (#) (s — 1)(s + 20) S S i

T4—KAyHaka—S B9.2 (b) BIRERE (r=1)
_4s+6 1

K(s) =
0.8 \
J4—FT4T—Rarka—3 s EHAT
1 = 04 \
F(s) = (1=03) 0.2
0

HAEHES. Ts+1 TH%
[419.1] ELARTHBE, ootz
a~cOK &dOK B 9.6 2EAEHIEHRD
13 B R ESEH 14
1 9 :2 3 I ﬁ 7N
NS ! EIoE 2 BHERHZR
Ps)= L W Bs) = ( 1+527) g 08 gL 9.1 Z4—RI+T—RET4—FIRvIDEE
5 g S8+ Lo 04 EHk RE 4| 4 ME LIl
. jaijl A 0.2 9Z7‘i®1&ﬁ§1§{1t m 92 2 E Ha;%“ﬁﬂ%w*ﬁl&&::&n-hf
aVRR—3 K(s) = Ko (B0 ol R4y

0o 27 6 8 10

t
aAvkO—SOEH 9.7 (a) Z4—k\w O %

T4—F\voDH Ko =1 (FIR) 1
0.8

2EE Fo) = —— 2 [N\ mme

s+1 = 04 S
K=28 0.2 2t
0

2 4 6 8 10

t
B 9.7 (b) 2B HEHIER 15

F—IJ—K : T4—KI4+T—FK, T4—knvy
2 BHE S

FEER T FI+T—FETA—RN\vIDENTR
DREEERT S, 2 BREHBROBEL
HEAEERT B,

1
r=-
S
F
y:P(1—37~+K(F7»7y)>:Fr+PK(Fr—y)

&£oT
(1+PK)y=(1+PK)Fr
y=Fr

e= lim (r—y) = lim s(r - y)




